A L 5 | T i g
A (8B #H ) # R B
3 E SHSEE AFLENITH 5448258 22} # SH55E4826H
I 5= & 5 $F95 = I SHI5E4826H
I E % 4 AERRGESHELEX NS ELEKEN BB ASERRHLEBER| = |52 SH5ETA31H
T £ & Fr FNFKRFINSFHEHA 5 ¥ E O & 6,977,300
I = 8 = BIEREHET
(Bifr: M)
¥ L F 0O O PR
ES = % — . —
ANERUVBALLEE (FiiR) ED49%8 (Fuad)
s BRBEMAAFEL 52— (1) 2) (3)
6,200,000
ARE&# 7—hERE (1) 2 3
6,250,000
EETERT9-24
#=xX£t REaHILEUE (1) 2) (3)
6,100,000 6,710,000
wEREMavHILELY XSt (1) 2 3
6,200,000
HR&H BToo=—7IT (1 (2) 3
6,300,000
(1) 2) (3)
(1) 2) (3)
(1) 2) (3)
1) (2) (3)

(1

(2)

(3)




